Hermitian Positive Definite Solutions of the Matrix Equation $X + A^*X^{-q}A = Q \ (q \ge 1)$

LIU Wei^{1,2}, LIAO An Ping², DUAN Xue Feng^{2,3}

(1. Department of Information and Computing Science, Changsha University, Hunan 410003, China;

2. College of Mathematics and Econometrics, Hunan University, Hunan 410082, China;

3. School of Mathematics & Computational Science, Guilin University of Electronic Technology,

Guangxi 541004, China)

(E-mail: kviax@126.com)

Abstract In this paper, Hermitian positive definite solutions of the nonlinear matrix equation $X + A^*X^{-q}A = Q$ $(q \ge 1)$ are studied. Some new necessary and sufficient conditions for the existence of solutions are obtained. Two iterative methods are presented to compute the smallest and the quasi largest positive definite solutions, and the convergence analysis is also given. The theoretical results are illustrated by numerical examples.

Keywords nonlinear matrix equations; positive definite solution; iterative method.

Document code A MR(2000) Subject Classification 15A24; 65F10 Chinese Library Classification 0241.6; 0151.21

1. Introduction

In this paper, we consider the nonlinear matrix equation

$$X + A^* X^{-q} A = Q, (1)$$

where A is an $n \times n$ nonsingular complex matrix, Q is an $n \times n$ positive definite matrix, and $q \ge 1$. Eq.(1) has many applications in control theory, ladder networks, dynamic programming, queueing theory, stochastic filtering and statistics^[1-3].

Recently, the matrix equation $X + A^* X^{-q} A = Q$ with the following cases have been investigated:

- (a) $0 < q \le 1$ and Q is a positive definite matrix^[4-9];
- (b) q > 0 and Q is the identity matrix^{[3-5],[9-11]};
- (c) q is a positive integer and Q is a positive definite matrix^{[3],[12-14]}.

Based on these, the matrix equation $X + A^* X^{-q} A = Q$ (i.e., Eq.(1)) is studied in this paper, where $q \ge 1$ and Q is a positive definite matrix.

This paper is organized as follows. In Section 2, we derive some new necessary and sufficient conditions for the existence of solutions. In Section 3, we construct two iterative methods to

Received date: 2007-10-17; Accepted date: 2008-05-21

Foundation item: the Natural Science Foundation of Hunan Province (No. 09JJ6012).

compute the smallest and the quasi largest positive definite solutions, and also give their convergence analysis. We use numerical examples to show that the iterative methods are feasible and effective in Section 4.

Throughout the paper, we write B > 0 $(B \ge 0)$ if the matrix B is a positive definite (semidefinite). If B-C is a positive definite (semidefinite) matrix, then we write $B > C(B \ge C)$. We use || B || and $|| B ||_F$ to denote the spectral norm and the Frobenius norm of a matrix B, respectively, and use $C^{n \times n}$, $C_n^{n \times n}$ and $U^{n \times n}$ to denote the set of all $n \times n$ complex matrices, nonsingular complex matrices and unitary matrices, respectively. The symbols $\lambda_1(B)$ and $\lambda_n(B)$ stand for the maximal and minimal eigenvalues of a positive definite matrix B. The symbols $\sigma_1(B)$ and $\sigma_n(B)$ stand for the maximal and minimal singular values of a matrix B.

Definition 1^[6] Let $X_S(X_L)$ be a positive definite solution of Eq.(1). If every positive definite solution X satisfies $X \ge X_S(X \le X_L)$, then $X_S(X_L)$ is called the smallest (largest) positive definite solution of Eq.(1).

Definition 2 Let \tilde{X} be a positive definite solution of Eq.(1). If every positive definite solution X satisfies $\lambda_n(Q^{-\frac{1}{2}}XQ^{-\frac{1}{2}}) < \lambda_n(Q^{-\frac{1}{2}}\tilde{X}Q^{-\frac{1}{2}})$, then \tilde{X} is called the quasi largest positive definite solution of Eq.(1).

Lemma 1^[15] If $A \ge B > 0$, then $A^{\alpha} \ge B^{\alpha}$ for all $\alpha \in (0, 1]$ and $A^{\alpha} \le B^{\alpha}$ for all $\alpha \in [-1, 0)$.

Lemma 2^[15] For any $MI \ge X$, $Y \ge mI > 0$, then $|| X^{\alpha} - Y^{\alpha} || \le |\alpha| m^{\alpha-1} || X - Y ||$ for all $\alpha < 0$, $|| X^{\alpha} - Y^{\alpha} || \le \alpha m^{\alpha-1} || X - Y ||$ for all $0 < \alpha < 1$ and $|| X^{\alpha} - Y^{\alpha} || \le \alpha M^{\alpha-1} || X - Y ||$ for all $\alpha > 1$.

Lemma 3^[16] Let $M_1I \ge A \ge m_1I > 0$, $M_2I \ge B \ge m_2I > 0$ and $B \ge A > 0$. Then

$$A^{\alpha} \le K_{1,\alpha}B^{\alpha} \le (\frac{M_1}{m_1})^{\alpha-1}B^{\alpha}, \ A^{\alpha} \le K_{2,\alpha}B^{\alpha} \le (\frac{M_2}{m_2})^{\alpha-1}B^{\alpha}$$

for all $\alpha \in [1, +\infty)$, where $K_{i, \alpha} = \frac{(\alpha-1)^{\alpha-1}}{\alpha^{\alpha}(M_i-m_i)} \frac{(M_i^{\alpha}-m_i^{\alpha})^{\alpha}}{(m_iM_i^{\alpha}-M_im_i^{\alpha})^{\alpha-1}}, i = 1, 2.$

Lemma 4^[17] Let A and B be n-square positive semidefinite matrices. Then there exists an invertible matrix P such that P^*AP and P^*BP are both diagonal matrices. In addition, if A is nonsingular, then P can be chosen so that $P^*AP = I$ and P^*BP is diagonal.

2. Conditions for the existence of solutions

In this section, we derive some new necessary and sufficient conditions for the existence of solutions of Eq.(1).

Theorem 1 If Eq.(1) has a solution X, then

$$X \in \left(\sqrt[q]{AQ^{-1}A^*}, Q - \frac{1}{K}A^*Q^{-q}A\right],$$

where $K = \frac{(q-1)^{q-1}}{q^q(\lambda_1(Q^{-1}) - \lambda_n(Q^{-1}))} \frac{(\lambda_1(Q^{-1})^q - \lambda_n(Q^{-1})^q)^q}{(\lambda_n(Q^{-1})\lambda_1(Q^{-1})^q - \lambda_1(Q^{-1})\lambda_n(Q^{-1})^q)^{q-1}}.$

Proof Let X be a solution of (1), then X < Q, $A^*X^{-q}A < Q$, which implies that $A^{-1}X^qA^{-*} > A^{-1}X^{-1}A^{-*}$

Hermitian positive definite solutions of the matrix equation $X + A^* X^{-q} A = Q \ (q \ge 1)$

 Q^{-1} , i.e., $X^q > AQ^{-1}A^*$. By Lemma 1, we have

$$X > \sqrt[q]{AQ^{-1}A^*}.$$

By Lemmas 1 and 3, we have

$$Q^{-q} \le KX^{-q}, \ X = Q - A^* X^{-q} A \le Q - \frac{1}{K} A^* Q^{-q} A,$$

$$(q-1)^{q-1} \qquad (\lambda_1 (Q^{-1})^q - \lambda_n (Q^{-1})^q)^q \qquad \text{Hence}$$

where $K = \frac{(q-1)^2}{q^q(\lambda_1(Q^{-1}) - \lambda_n(Q^{-1}))} \frac{(\lambda_1(Q^{-1})^2 - \lambda_n(Q^{-1}))}{(\lambda_n(Q^{-1})\lambda_1(Q^{-1})^q - \lambda_1(Q^{-1})\lambda_n(Q^{-1})^q)^{q-1}}$. Hence

$$X \in (\sqrt[q]{AQ^{-1}A^*}, Q - \frac{1}{K}A^*Q^{-q}A].$$

Theorem 2 Eq.(1) has a solution X if and only if there exist $W \in C_n^{n \times n}$, $Z \in C^{n \times n}$ such that $A = (W^*W)^{\frac{q}{2}}Z$, where the columns of $\binom{WQ^{-\frac{1}{2}}}{ZQ^{-\frac{1}{2}}}$ are orthonormal. In this case, $X = W^*W$ is a solution of Eq.(1).

Proof If X is a solution of Eq.(1), then there exists W > 0 such that $X = W^*W$. Eq.(1) can be rewritten as

$$W^*W + ((W^*)^{-q}A)^*(W^*)^{-q}A = Q_{q}$$

or equivalently

$$\begin{pmatrix} WQ^{-\frac{1}{2}} \\ (W^*)^{-q}AQ^{-\frac{1}{2}} \end{pmatrix}^* \begin{pmatrix} WQ^{-\frac{1}{2}} \\ (W^*)^{-q}AQ^{-\frac{1}{2}} \end{pmatrix} = I.$$
 (2)

Let $Z = (W^*)^{-q}A$. Then $A = (W^*W)^{\frac{q}{2}}Z$ and from (2) we have that the columns of $\binom{WQ^{-\frac{1}{2}}}{ZQ^{-\frac{1}{2}}}$ are orthonormal.

Conversely, assume there exist $W \in C_n^{n \times n}$, $Z \in C^{n \times n}$ such that $A = (W^*W)^{\frac{q}{2}}Z$ and the columns of $\binom{WQ^{-\frac{1}{2}}}{ZQ^{-\frac{1}{2}}}$ are orthonormal. Let $X = W^*W$. Then

$$X + A^* X^{-q} A = W^* W + \left((W^* W)^{\frac{q}{2}} Z \right)^* (W^* W)^{-q} (W^* W)^{\frac{q}{2}} Z$$
$$= W^* W + Z^* Z = Q.$$

i.e., X is a solution of Eq.(1).

Theorem 3 Eq.(1) has a solution X if and only if there exist $P, M, U \in U^{n \times n}$ and diagonal matrices Γ , Φ , $\Sigma > 0$ such that

$$A = P^* \Gamma^q M \Phi U^* Q^{\frac{1}{2}},$$

where $\Sigma^2 + \Phi^2 = I$, $\Sigma^2 = (PQ^{-\frac{1}{2}}U)^* \Gamma^2 PQ^{-\frac{1}{2}}U$. In this case, $X = P^* \Gamma^2 P$ is a solution of Eq.(1).

Proof Assume there exist $P, M, U \in U^{n \times n}$ and diagonal matrices Γ , Φ , $\Sigma > 0$, $\Sigma^2 + \Phi^2 = I$, $\Sigma^2 = (PQ^{-\frac{1}{2}}U)^*\Gamma^2 PQ^{-\frac{1}{2}}U$ such that $A = P^*\Gamma^q M \Phi U^* Q^{\frac{1}{2}}$. Then it is easy to verify that $X = P^*\Gamma^2 P$ is a solution of Eq.(1).

Conversely, if Eq.(1) has a solution X. By the spectral decomposition theorem, there exists $P \in U^{n \times n}$ such that $X = P^* \Gamma^2 P$, where $\Gamma > 0$ is diagonal. Eq.(1) can be rewritten as

$$PA^*P^*\Gamma^{-2q}PAP^* = PQP^* - \Gamma^2.$$
(3)

By Lemma 4, there exists $U \in U^{n \times n}$ and diagonal matrix $\Sigma > 0$ such that

$$U^*Q^{-\frac{1}{2}}P^*(PQP^*)PQ^{-\frac{1}{2}}U = I$$

and

$$U^* Q^{-\frac{1}{2}} P^* \Gamma^2 P Q^{-\frac{1}{2}} U = \Sigma^2.$$

Then we have

$$U^* Q^{-\frac{1}{2}} P^* P A^* P^* \Gamma^{-2q} P A P^* P Q^{-\frac{1}{2}} U = I - \Sigma^2.$$
(4)

Let $K = \Gamma^{-q} P A Q^{-\frac{1}{2}} U \in C_n^{n \times n}$, $\Phi = (I - \Sigma^2)^{\frac{1}{2}} > 0$. From (4) it follows that $K^* K = \Phi^2$. Let $M = K \Phi^{-1}$. It is easy to verify that $M^* M = I$, i.e., M is an $n \times n$ unitary matrix. Since $K = \Gamma^{-q} P A Q^{-\frac{1}{2}} U = M \Phi$, we get $A = P^* \Gamma^q M \Phi U^* Q^{\frac{1}{2}}$.

3. Iterative methods and convergence analysis

In this section, we give two iterative methods to compute the smallest and the quasi largest positive definite solutions.

Consider the first iterative method

$$X_0 = sQ, \ X_{k+1} = \sqrt[q]{A(Q - X_k)^{-1}A^*}.$$
(5)

Theorem 4 Assume $\sigma_1^2(Q^{-\frac{q}{2}}AQ^{-\frac{1}{2}}) \leq \frac{q^q}{(q+1)^{q+1}}$. Let α_1, β_1 be solutions of equations $x^q(1-x) = \sigma_n^2(Q^{-\frac{q}{2}}AQ^{-\frac{1}{2}}), x^q(1-x) = \sigma_1^2(Q^{-\frac{q}{2}}AQ^{-\frac{1}{2}}),$ respectively, on $(0, \frac{q}{q+1}]$. Consider $\{X_k\}$ defined by (5). Then

(i) If $X_0 = \gamma Q$, $\gamma \in [0, \alpha_1]$, then $\{X_k\}$ is monotonically increasing and converges to the smallest positive definite solution X_S of Eq.(1), and $X_S \in [\alpha_1 Q, \beta_1 Q]$.

(*ii*) If $X_0 = \xi Q, \xi \in [\alpha_1, \beta_1]$, and

$$c_1 = \frac{1}{q} \left(\frac{\|A\| \|Q^{-1}\|}{1 - \beta_1}\right)^2 \left(\frac{1 - \alpha_1}{\lambda_n (AQ^{-1}A^*)}\right)^{\frac{q-1}{q}} < 1,$$
(6)

then $\{X_k\}$ converges to the smallest positive definite solution X_S .

Proof It is easy to verify that $0 < \alpha_1 \le \beta_1 \le \frac{q}{q+1}$ and the function $f(x) = x^q(1-x)$ is monotonically increasing where $x \in [0, \frac{q}{q+1}]$. Thus for any $0 \le \alpha \le \alpha_1 \le \beta_1 \le \beta \le \frac{q}{q+1}$, we have

$$\alpha^{q}(1-\alpha)I \leq Q^{-\frac{q}{2}}AQ^{-1}A^{*}Q^{-\frac{q}{2}} \leq \beta^{q}(1-\beta)I,$$

$$\alpha^{q}(1-\alpha)Q^{q} \leq AQ^{-1}A^{*} \leq \beta^{q}(1-\beta)Q^{q}.$$

(i) We have $X_0 = \gamma Q \leq \beta_1 Q, \ \gamma \in [0, \ \alpha_1]$. Thus

$$X_1 = \sqrt[q]{A(Q - \gamma Q)^{-1}A^*} = \sqrt[q]{\frac{AQ^{-1}A^*}{1 - \gamma}} \le \sqrt[q]{\frac{1}{1 - \beta_1}\beta_1^q(1 - \beta_1)Q^q} = \beta_1 Q$$

and

$$X_{1} = \sqrt[q]{A(Q - \gamma Q)^{-1}A^{*}} = \sqrt[q]{\frac{AQ^{-1}A^{*}}{1 - \gamma}} \ge \sqrt[q]{\frac{1}{1 - \gamma}\gamma^{q}(1 - \gamma)Q^{q}} = \gamma Q = X_{0},$$

and we have $X_0 \leq X_1 \leq \beta_1 Q$. Assume $X_{k-1} \leq X_k \leq \beta_1 Q$. Then

$$\sqrt[q]{A(Q-X_{k-1})^{-1}A^*} \le \sqrt[q]{A(Q-X_k)^{-1}A^*} \le \sqrt[q]{A(Q-\beta_1 Q)^{-1}A^*}$$

834

Hermitian positive definite solutions of the matrix equation $X + A^* X^{-q} A = Q \ (q \ge 1)$

$$X_k \le X_{k+1} \le \sqrt[q]{\frac{AQ^{-1}A^*}{1-\beta_1}} \le \sqrt[q]{\frac{\beta_1^q(1-\beta_1)}{1-\beta_1}Q^q} = \beta_1 Q.$$

Thus the sequence $\{X_k\}$ is monotonically increasing and converges to a solution \hat{X} with $\hat{X} \leq \beta_1 Q$.

Let X be a solution of Eq.(1). Construct the sequence

$$\alpha_0 = 0, \ \alpha_{k+1} = \sqrt[q]{\frac{\sigma_n^2(Q^{-\frac{q}{2}}AQ^{-\frac{1}{2}})}{1-\alpha_k}}, \ k = 0, 1, 2, \dots$$

Obviously, we have $X \ge \alpha_0 Q = 0$ and $\alpha_0 \le \frac{q}{q+1}$. Assume $X \ge \alpha_k Q$, $\alpha_k \le \frac{q}{q+1}$. We have

$$X = \sqrt[q]{A(Q-X)^{-1}A^*} \ge \sqrt[q]{\frac{AQ^{-1}A^*}{1-\alpha_k}} \ge \sqrt[q]{\frac{Q^{\frac{q}{2}}(Q^{-\frac{q}{2}}AQ^{-1}A^*Q^{-\frac{q}{2}})Q^{\frac{q}{2}}}{1-\alpha_k}}$$
$$\ge \sqrt[q]{\frac{\sigma_n^2(Q^{-\frac{q}{2}}AQ^{-\frac{1}{2}})}{1-\alpha_k}}Q^q = \alpha_{k+1}Q,$$
$$\alpha_{k+1} = \sqrt[q]{\frac{\sigma_n^2(Q^{-\frac{q}{2}}AQ^{-\frac{1}{2}})}{1-\alpha_k}} \le \sqrt[q]{\frac{q^q}{(q+1)^{q+1}}(q+1)} = \frac{q}{q+1}.$$

Then $X \ge \alpha_k Q$, $\alpha_k \le \frac{q}{q+1}$ for $k = 0, 1, 2, \dots$.

The sequence $\{\alpha_k\}$ is monotonically increasing and bounded, hence it is convergent. Let $\hat{\alpha} = \lim_{k \to \infty} \alpha_k$. Then $\hat{\alpha} \leq \frac{q}{q+1}$ and $\hat{\alpha} = \sqrt[q]{\frac{\sigma_n^2 (Q^{-\frac{q}{2}} A Q^{-\frac{1}{2}})}{1-\hat{\alpha}}}$, which means $\hat{\alpha}$ is one and only solution of the equation $x^q (1-x) = \sigma_n^2 (Q^{-\frac{q}{2}} A Q^{-\frac{1}{2}})$ on $(0, \frac{q}{q+1}]$. Hence $\alpha_1 = \hat{\alpha}$ and $X \geq \alpha_1 Q$. For $X_2 = \alpha Q$, $\alpha \in [0, \infty]$ we have $X_2 \leq \alpha_2 Q \leq X$. Assume $X_3 \leq X$. Then

For $X_0 = \gamma Q, \gamma \in [0, \alpha_1]$, we have $X_0 \le \alpha_1 Q \le X$. Assume $X_k \le X$. Then

$$X_{k+1} = \sqrt[q]{A(Q - X_k)^{-1}A^*} \le \sqrt[q]{A(Q - X)^{-1}A^*} = X.$$

So the solution \hat{X} is the smallest positive definite solution X_S of Eq.(1), i.e., $\hat{X} = X_S$, and $X_S \in [\alpha_1 Q, \beta_1 Q]$.

(ii) We have $X_0 = \xi Q, \xi \in [\alpha_1, \beta_1]$ and $\alpha_1 Q \leq X_0 = \xi Q \leq \beta_1 Q$. Assume $\alpha_1 Q \leq X_k \leq \beta_1 Q$. For X_{k+1} we compute

$$X_{k+1} = \sqrt[q]{A(Q - X_k)^{-1}A^*} \le \sqrt[q]{A(Q - \beta_1 Q)^{-1}A^*} \le \sqrt[q]{\frac{AQ^{-1}A^*}{1 - \beta_1}} \le \beta_1 Q,$$

$$X_{k+1} = \sqrt[q]{A(Q - X_k)^{-1}A^*} \ge \sqrt[q]{A(Q - \alpha_1 Q)^{-1}A^*} \ge \alpha_1 Q.$$

So $\alpha_1 Q \leq X_k \leq \beta_1 Q$ for $k = 0, 1, 2, \dots$. Furthermore, we have

$$A(Q - X_k)^{-1}A^* \ge \frac{AQ^{-1}A^*}{1 - \alpha_1} \ge \frac{\lambda_n (AQ^{-1}A^*)}{1 - \alpha_1}I,$$

$$(Q - X_k)^{-1} \le \frac{1}{1 - \beta_1}Q^{-1} \le \frac{1}{1 - \beta_1} \|Q^{-1}\|I,$$

$$X_{k+p} - X_k = \sqrt[q]{A(Q - X_{k+p-1})^{-1}A^*} - \sqrt[q]{A(Q - X_{k-1})^{-1}A^*}.$$

By Lemma 2, we obtain

$$\|X_{k+p} - X_k\| \le \frac{1}{q} \left(\frac{\lambda_n (AQ^{-1}A^*)}{1 - \alpha_1}\right)^{\frac{1}{q} - 1} \|A\left((Q - X_{k+p-1})^{-1} - (Q - X_{k-1})^{-1}\right)A^*\|$$

$$\leq \frac{1}{q} \left(\frac{1 - \alpha_1}{\lambda_n (AQ^{-1}A^*)} \right)^{\frac{q-1}{q}} \|A\|^2 \left(\frac{\|Q^{-1}\|}{1 - \beta_1} \right)^2 \|X_{k+p-1} - X_{k-1}\| \\ \cdots \\ \leq \left(\frac{1}{q} \left(\frac{\|A\| \|Q^{-1}\|}{1 - \beta_1} \right)^2 \left(\frac{1 - \alpha_1}{\lambda_n (AQ^{-1}A^*)} \right)^{\frac{q-1}{q}} \right)^k \|X_p - X_0\| \\ \leq c_1^k \frac{1}{1 - c_1} \|X_1 - X_0\|.$$

According to (6), the sequence $\{X_k\}$ is a Cauchy sequence on $[\alpha_1 Q, \beta_1 Q]$. Let $X_{\xi} = \lim_{k \to \infty} X_k$. Then $X_{\xi} \in [\alpha_1 Q, \beta_1 Q]$.

We assume that X, Y are solutions of Eq.(1) on $[\alpha_1 Q, \beta_1 Q]$ with $X \neq Y$. Then

$$||X - Y|| \le c_1 ||X - Y|| < ||X - Y||.$$

Thus X_{ξ} is a unique solution of Eq.(1) on $[\alpha_1 Q, \beta_1 Q]$. According to (i), Eq.(1) has a smallest positive definite solution $X_S \in [\alpha_1 Q, \beta_1 Q]$. Hence $X_{\xi} = X_S$.

Consider the second iterative method

$$X_0 = tQ, \ X_{k+1} = Q - A^* X_k^{-q} A.$$
(7)

Theorem 5 Assume $\sigma_1^2(Q^{-\frac{q}{2}}AQ^{-\frac{1}{2}}) \leq \frac{q^q}{(q+1)^{q+1}} (\frac{\lambda_n(Q^{-1})}{\lambda_1(Q^{-1})})^{q-1}$. Let α_2 , β_2 be solutions of equations $x^q(1-x) = (\frac{\lambda_1(Q^{-1})}{\lambda_n(Q^{-1})})^{q-1} \sigma_1^2(Q^{-\frac{q}{2}}AQ^{-\frac{1}{2}})$, $x^q(1-x) = (\frac{\lambda_n(Q^{-1})}{\lambda_1(Q^{-1})})^{q-1} \sigma_n^2(Q^{-\frac{q}{2}}AQ^{-\frac{1}{2}})$, respectively, on $[\frac{q}{q+1}, 1)$. If

$$c_2 = \frac{q \|A\|^2 \|Q^{-1}\|^{q+1}}{\alpha_2^{q+1}} < 1,$$
(8)

then $\{X_k\}$ defined by (7) converges to a unique solution $\tilde{X} \in [\alpha_2 Q, \beta_2 Q]$ of Eq.(1) for all $\eta \in [\alpha_2, \beta_2]$, and \tilde{X} is the quasi largest positive definite solution of Eq.(1).

Proof We have $X_0 = \eta Q$, $\eta \in [\alpha_2, \beta_2]$ and $\alpha_2 Q \leq X_0 = \eta Q \leq \beta_2 Q$. Thus

$$X_{1} = Q - \frac{1}{\eta^{q}} A^{*} Q^{-q} A \leq Q - \frac{1}{\eta^{q}} \left(\frac{\lambda_{1}(Q^{-1})}{\lambda_{n}(Q^{-1})}\right)^{q-1} \beta_{2}^{q} (1 - \beta_{2}) Q \leq \beta_{2} Q,$$

$$X_{1} = Q - \frac{1}{\eta^{q}} A^{*} Q^{-q} A \geq Q - \frac{1}{\eta^{q}} \left(\frac{\lambda_{n}(Q^{-1})}{\lambda_{1}(Q^{-1})}\right)^{q-1} \alpha_{2}^{q} (1 - \alpha_{2}) Q \geq \alpha_{2} Q.$$

Assume $\alpha_2 Q \leq X_k \leq \beta_2 Q$. By Lemmas 1 and 3, we obtain

2

$$X_k^{-1} \ge (\beta_2 Q)^{-1} = \frac{1}{\beta_2} Q^{-1}, \ X_k^{-q} \ge \frac{1}{\beta_2^q} \left(\frac{\lambda_n(Q^{-1})}{\lambda_1(Q^{-1})}\right)^{q-1} Q^{-q}.$$

Thus

$$\begin{aligned} X_{k+1} &= Q - A^* X_k^{-q} A \\ &\leq Q - \frac{1}{\beta_2^q} \Big(\frac{\lambda_n(Q^{-1})}{\lambda_1(Q^{-1})} \Big)^{q-1} A^* Q^{-q} A \\ &\leq \Big(1 - \frac{1}{\beta_2^q} \Big(\frac{\lambda_n(Q^{-1})}{\lambda_1(Q^{-1})} \Big)^{q-1} \Big(\frac{\lambda_1(Q^{-1})}{\lambda_n(Q^{-1})} \Big)^{q-1} \beta_2^q (1 - \beta_2) \Big) Q \\ &= \beta_2 Q. \end{aligned}$$

Similarly, we have $X_{k+1} \ge \alpha_2 Q$. Thus $\alpha_2 Q \le X_k \le \beta_2 Q$ for $k = 0, 1, 2, \dots$. Since $X_k \ge \alpha_2 Q$, we have $X_k \ge \frac{\alpha_2}{\|Q^{-1}\|} I$. By Lemma 2, we obtain

$$\begin{split} \|X_{k+p} - X_k\| &= \|A^* (X_{k+p-1}^{-q} - X_{k-1}^{-q})A\| \\ &\leq q \|A\|^2 (\frac{\|Q^{-1}\|}{\alpha_2})^{q+1} \|X_{k+p-1} - X_{k-1}\| \\ &\leq (\frac{q \|A\|^2 \|Q^{-1}\|^{q+1}}{\alpha_2^{q+1}})^k \|X_p - X_0\| \\ &\leq c_2^k \frac{1}{1 - c_2} \|X_1 - X_0\|. \end{split}$$

According to (8), the sequence $\{X_k\}$ is a Cauchy sequence on $[\alpha_2 Q, \beta_2 Q]$, and converges to a unique solution $\tilde{X} \in [\alpha_2 Q, \beta_2 Q]$ of Eq.(1).

Assume that X', X'' are solutions of (1) on $[\alpha_2 Q, Q]$ with $X' \neq X''$. Then

$$||X' - X''|| \le c_2 ||X' - X''|| < ||X' - X''||.$$

Thus \tilde{X} is unique on $[\alpha_2 Q, Q]$. In view of Definition 2, we know that \tilde{X} is the quasi largest positive definite solution of Eq.(1).

4. Numerical examples

In this section, we have made two numerical experiments to compute the positive definite solutions of Eq.(1). All the computations are implemented on a PC with 1.4 GHz Pentium IV and 512 MB SDRAM using MATLAB 6.5, where the stopping criterion $||X_k - X_{k+1}|| < 10^{-15}$ is used.

Example 1 Consider the matrix equation $X + A^* X^{-1.3} A = Q$ with

$$A = \begin{pmatrix} 0.37 & 0.13 & 0.32 \\ 0.30 & 0.34 & 0.12 \\ 0.11 & 0.17 & 0.29 \end{pmatrix}, \ Q = \begin{pmatrix} 7.15 & 3.02 & 0.11 \\ 3.02 & 6.20 & 2.01 \\ 0.11 & 2.01 & 6.50 \end{pmatrix}.$$

It is easy to verify that A, Q and q satisfy the conditions of Theorem 4. We also can get $\alpha_1 = 0.0022, \beta_1 = 0.0151$. Consider the iterative method (5) with $X_0 = 0.01Q$. After 8 iterations, we get the smallest positive definite solution of Eq.(1)

$$X_S \approx X_8 = \left(\begin{array}{rrrr} 0.0772 & 0.0274 & 0.0340\\ 0.0274 & 0.0504 & 0.0203\\ 0.0340 & 0.0203 & 0.0339 \end{array}\right)$$

and $||X_8 + A^*X_8^{-1.3}A - Q||_F = 5.3688 \times 10^{-15}.$

Example 2 Consider the matrix equation $X + A^* X^{-2.1} A = Q$ with

$$A = \begin{pmatrix} 1.8 & 0.9 & 0 & 0.9 \\ 0.9 & 2.7 & 1.8 & 0.9 \\ 0 & 0.9 & 0 & 0.9 \\ 0.9 & 0 & 0.9 & 1.8 \end{pmatrix}, \ Q = \begin{pmatrix} 7 & -1 & 2 & 1 \\ -1 & 9 & -3 & 1 \\ 2 & -3 & 9 & 2 \\ 1 & 1 & 2 & 8 \end{pmatrix}.$$

It is easy to verify that A, Q and q satisfy the conditions of Theorem 5. We also can get $\alpha_2 = 0.8082, \beta_2 = 0.9998$. Consider the iterative method (7) with $X_0 = 0.9Q$. After 14 iterations, we get the quasi largest positive definite solution of Eq.(1)

$$\tilde{X} \approx X_{14} = \begin{pmatrix} 6.9192 & -1.0567 & 1.9758 & 0.9574 \\ -1.0567 & 8.7656 & -3.0824 & 0.9476 \\ 1.9758 & -3.0824 & 8.9539 & 1.9632 \\ 0.9574 & 0.9476 & 1.9632 & 7.9484 \end{pmatrix}$$

and $||X_{14} + A^* X_{14}^{-2.1} A - Q||_F = 1.1213 \times 10^{-15}.$

The above examples show that the iterative methods (5) and (7) are feasible and effective for computing the smallest and the quasi largest positive definite solutions.

References

- [1] ANDERSON W N, MORLEY T D, TRAPP G E. Positive solutions to $X = A BX^{-1}B^*$ [J]. Linear Algebra Appl., 1990, **134**: 53–62.
- MEINI B. Nonlinear matrix equations and structured linear algebra [J]. Linear Algebra Appl., 2006, 413(2-3): 440–457.
- [3] LIAO Anping. The positive definite solution of the matrix equation $X + A^*X^{-n}A = I[J]$. Numer. Math. J. Chinese Univ., 2004, **26**(2): 156–161. (in Chinese)
- [4] ZHAN Xingzhi, XIE Jianjun. On the matrix equation $X + A^T X^{-1} A = I[J]$. Linear Algebra Appl., 1996, 247: 337–345.
- [5] Jiang Yongquan. On the positive definite solution of the matrix equation $X + A^T X^{-1} A = I$ [J]. J. Math. Res. Exposition, 1998, **18**(1): 157–158.
- [6] ENGWERDA J C, RAN A C M, RIJKEBOER A L. Necessary and sufficient conditions for the existence of a positive definite solution of the matrix equation X + A*X⁻¹A = Q[J]. Linear Algebra Appl., 1993, 186: 255–275.
- [7] CHEN Xiaoshan, LI Wen. Solutions and perturbation analysis of the matrix equation $X + A^*X^{-1}A = P$ [J]. Math. Numer. Sin., 2005, **27**(3): 303–310. (in Chinese)
- [8] Hasanov V I. Positive definite solutions of the matrix equations $X \pm A^* X^{-q} A = Q$ [J]. Linear Algebra Appl., Linear Algebra Appl., 2005, **404**: 166–182.
- [9] XU Shufang. The maximal solution of the matrix equation $X + A^{T}X^{-1}A = I$ [J]. Beijing Daxue Xuebao Ziran Kexue Ban, 2000, **36**(1): 29–38. (in Chinese)
- [10] EL-SAYED S M, PETKOV M G. Iterative methods for nonlinear matrix equations $X + A^*X^{-\alpha}A = I$ [J]. Linear Algebra Appl., 2005, **403**: 45–52.
- [11] LIU Xinguo, GAO Hua. On the positive definite solutions of the matrix equations $X^s \pm A^T X^{-t} A = I_n$ [J]. Linear Algebra Appl., 2003, **368**: 83–97.
- [12] IVANOV I G. On positive definite solutions of the family of matrix equations $X + A^*X^{-n}A = Q$ [J]. J. Comput. Appl. Math., 2006, **193**(1): 277–301.
- [13] Zhang Yuhai. On Hermitian positive definite solutions of matrix equation $X + A^*X^{-2}A = I$ [J]. Linear Algebra Appl., 2003, **372**: 295–304.
- [14] Guo Xiaoxia. On Hermitian positive definite solution of nonlinear matrix equation $X + A^*X^{-2}A = Q$ [J]. J. Comput. Math., 2005, **23**(5): 513–526.
- [15] BHATA R. Matrix Analysis [M]. Berlin: Springer-Verlag, 1997.
- [16] FURUTA T. Operator inequalities associated with Hölder-McCarthy and Kantorovich inequalities [J]. J. Inequal. Appl., 1998, 2(2): 137–148.
- [17] Zhang F Z. Matrix Theory: Basic Results and Techniques [M]. Springer-Verlag New York Inc, 1999.